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Instructions to the candidates :

L.

TH -9 H el O Y99 & | @ UVE F I 2T ¥ | ya@e Wy § ofais

fasheq |

This question paper consists of five questions. All the questions have to be

answered. Kach question has an internal choice.
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The total number of marks of the-questian paper 1s 300 and the time allotted
15 3 hours. All questions carry equal‘ marks, unless specifically stated
otherwise. Answers should be written in the medium which you have chosen
in your Application Form. No marks will be awarded, if the answer is written
in any other medium. All the five questions must be answered. This question
paper will be in two parts. Part I is compulsory for all the candidates. Part
I is divided into two parts i.e. Part-II ‘A’ and Part-1I ‘B’ which will have
two questions each with internal choice. It is compulsory to attempt either
Part-11 A" or Part-II ‘B’. Questions should be answered exactly in order in
which they appear in the question paper. Answers to the various parts of
the same question should be written together compulsorily and no answers
of other questions should be inserted between them. Regular calculator alone '

can be used 1n the exam, not the scientific one.

3. UYH YR @Y SWE B fSHH 20 e wve g, WAF F ST UF Fgdl &b
gferddl H <A1 B |

The first question will be of short answer type consisting of 20 compulsory

questions, each one is to be answered in one or two lines.

4. el v "I € T ¥ ITHT 379vY UTEH He |

Wherever word limit has been given, it must be adhered to.

5. A fHd U A fHAl YR I FE qEW A qAHF IFR R A2 T A T H
fgst a1 37Ut TUIR # A IUST UG HITFH HE ST |

In case there is any error of printing or factual nature. then out of the
Hindi and English versions of the question, the English version will be

treated as standard.
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Part-l 1s compulsory. Candidates may opt either Part II(A) or Part II (B).
-1

(Part-I)

1. () UIH Y99 &1 39 O 9 g Sifed 10x3=30

Answer each question in two sentences :

(1) SRS gHEaagd 1 & 2

What 1s Physical Anthropology ?

(i) HHN & 9R9rfug sieg |
Define society.
(iif) SUYME F TG F =W Fdd |

Differentiate ethos from iedos.

(jv) IYIEel Y=fd 1 & ?

What 1s genealogical method ?

(v)  HERfd R Quga ¥ =R Ty &S |

How 1s culture different from civilization ?

V2812012 28(1) P.T.0.
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(i) Sfow Sefasm T T 7
What is organic evolution 7
(vii) SIfFa ITETTT F 7

What is case study 7

(viji) TEI T TEE A & Fd H oo fRE WehR Tmud R
How will Old World Monkeys be made different from New World

Monkeys.

(ix) YEE 9HdafaT= = 8 2

What is Linguistic Anthropology 7

(x) INEdd T § ?
What is Mutation 7
faifrd =1 3O 200 ¥ | TIAC 60

Answer the following 1in 200 words

Sifdae w1 % 2 1 9% T9d RfEEE s =wre § O3S off Ui § 7
What is Darwinism ? Is it relevant to understand human evolution even

today 7

M2812012 28(1)



Write short notes on any three of the tollowing :

(&) Tt fFuio fafy o= 2 ?H‘aﬁqﬁﬁ?ﬁa{ﬁfaﬁrW%ﬁquWJ

What is the method of dating ? Briefly describe absolute dating.

How is the tradition of flield work established in anthropology ? Briefly

describe.

What are megaliths

? Describe megalithic cultures found in India.

M2812012 28(1) P.T.0.
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(Part-II ‘A’)

1 (&) 999 Y91 & ¥I¥ 9 & fay 9pr [ (31) ¥ 10 w39 - 10x3=30

Ten questions from Part II (A) for remaining part of Question No. 1.

T%r%ﬁ@aﬁ@uﬁmwaﬁmazﬁﬁwﬁﬁﬁ:

Write the answers of the following in two sentences each

(1)  dgladE F § 7
What is Polygamy ?
(i) Y 99 Fq ¥ 2
What is Bride price ?
(Gi)) 99w Y 7

What is lineage ?

M2812012 28(1)



Bongaism
(i) R T F 7

What is Kula 2

What is leadership E
x) T9Y F7 yfiarfeg $IfeT |
Define Taboo.

(x) B . AR

Write an essay on Totemism.

M2812012 28(1)
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(Or)

ANCH AGAT 1 F@ vt 0 § 7 w7 suyfie sefemger § (59 wwn

= § ? 99y § fag=ar A9

What are the chief features of Primitive economy 7 How 1s it different from

modern economy ? Briefly discuss.
5. %ﬁﬁ%wwmwzoowﬁﬁww . 4x15=60
Write notes on any four of the following in 200 words each
()  ofem WSt H wg 9 s@umRon g E
What is the concept of monev in primitive soclety 7
(1)  HHE GHIS H oAEE # F9 % G949 § 9y ey |
Bfieﬂy describe the pattern of residence in human societies.
() HTSH [T H IURA o YR 1 o0 Hifsd |
Discuss the modes of production in primitive societies.

M2812012 28(1)
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i TG UE USAfEEE GEN O ot ¥ 7 Sl 59 |

What is the distinction between state and stateless societies ? Describe.

(v) wﬂﬁ‘o{ﬁ F1 IUH FifeR 1

Describe functionalism.

(i) Y dHfeR & HFidF TEIUEr T e SifST |
Discuss Ruth Benedict’s cultural configurationalism.

HAT

10x3=30

1en questions from Part II (B) for Question No. 1.

Wﬁwﬁﬁmmmwa‘raﬁzﬁﬁﬁr@ﬁ:

Answer the following questions in fwo sentences each :

i) THgsg $9 o ?

Who was Ramapithecus ?

M2812012 28(1) P.T.O.



10

(i) THARd e 33 8 2

What i1s Phenyl thiocarbamide ?

({ii) FATIT 99 F8d § 2

What is cloning ?

(fv) SRTHA ¥ § 2

What 1s called brachiation ?

(v) Sifgw TgifEgs! 4 3mae 541 3y & 7

What do you mean by biological demography ?

(vi) HIEIGhI-E AT

Mitochondria

(vii) SAglg T T 7
What 1s ageing ?
(viti) ST THY

(renetic counselling

M2812012 28(1)
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ally
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What 1s down svndrome ?

(x) GﬂﬁH::I?:HQ%I‘:‘I{ 1 %’ /

What 1s linea-aspera ?

g gaEy 60

Who were Homoerectus ? Describe physical features, cultural evidences and

evolutionary significance of Sinanthropus.

4T

wa -feaEE gge w1 aviy w i

Describe the physical features and evolutionary significance of those

homosapiens, sapiens types which are found during upper Palaeolithic

¥

period.

V2812012 | 28(1) P.T.O
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5. Frafdied 0 | = o7, v8F T 200 viee] | i feoqolt fafay - 4x15=60

Write short notes on any four of the following in 200 words each

(i)  Tgueiaal ud wwd gityd § 9foE ¥ 9F9 SHd § hHd Oftedd o ¥ 7
Which changes occurred in human skeleton due to bipedal and erect

posture locomotion 7

(1)  SYeRen faursa &1 ot fRafafy d§ iy daed |

Elaborate the role of meiotic cell division in heredity mechanism.

(7i{) Bl UH. U. &l YO T Rt |

Clarity the concept of D.N.A.

What is population genetics ?

(v) HFE TORE H9fs & egga w1 ygw fafad @ avle it

Describe the chief methods of studving physical growth in man.

(vi) YRAE ITEEEIY H Y T YW WAGE ddl o I hiad |
Discuss the major racial elements found in Indian subcontinent.

22812012 28(1)
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Instructions to the candidates :

| Wy AR A Rt Yv H SW eI € | WA H 2 " 5 T
4 ofaft fased § |

This question pafaer consists of five questions. All the questions have to be

answered. Question Nos. 2 to 5 have an internal choice.

[\
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The total number of marks of the question paper is 300 and the time allotted
1s 3 hours. All questions carry equal marks, unless specifically stated
otherwise. Answers should be written in the medium which you have chosen
in your Application Form. No marks will be awarded, if the answer is written
in any other medium. All the five questions must be answered. Questions
should be answered exactly in order in which they appear 1n the question
paper. Answers to the various parts of the same question should be written
together compulsorily and no answers of other questions should be inserted
between them. Regular calculator alone can be used in the exam, not the

scientific one.

3. WUH W¥H &Y IWME B feEH 20 #HEE wA 3N, T w1 W WS a9 o
qfekt@l H 1 BT

The first question will be of short answer type consisting of 20 compulsory

questions, each one is to be answered in one or two lines.

4. I U= HW S R T IHF @y g Wi
Wherever word limit has been given, it must be adhered to.

5. AR Tl T H {Hdl TR & FR O W deATHE YRR F I T, 9 T B
el g1 sl ®9ek § ¥ o7l U 9HE 9 SRR

In case there is any error of printing or factual nature, then out of the
Hindi and English versions of the question, the English version will be

treated as standard.

M2822012 28(2)
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1. T=fafEs v% oY 3909 99 # 3W Ueh O 41 iR H Si9T @ 20x3=60

Answer the following short answer type questions 1n one or two lines

cach

(1)  S=d

Tribe

(2) 39 yEeE & 9 fdafen fsad doer 3 gw=fa @ ot fear ® o

Write the name of the book in which Taylor has defined culture.

(3) TR-BET 98T

NGO

(4) URER & iz dF WS mlﬁ;lﬁ'@]"l |

Write any three biological functions of family.

(5) - IT=R-17
Article-17
©) T

Dahiya
M2822012 28(2) P.T.O.
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(8)  STE-ATH/UE ATLATL

Proto-Australoid

Q) 9\ FEIa

Land Alenation

(10) ‘sAfegfaa seia’

‘Denotified Tribes’

(11) “‘IFT FreEd 3 g T (1961)" HF F AE@EH HH g ?

Who is the author of the book “Sacred Complex of Hindu Gaya (1961)” 7

(12) IOUEUE & U UYUEH SHAld skl AW ey |
Write the name of a pastoral tribe of Uttarakhand.
(13) dea HHIU

Great Tradition

M2822012 28(2)
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(14)  hgd go9da S sHHEIE 1992.
Central Panchavat Raj Act 1992

(15) oI={

"-n.\__-

IJH 1P

(16) WidenH Taag

Hypogamy

(17) 3199 & U& Hgaynd sieird 1 9 fafea |
Write the name of a matrilineal tribe of Assam.
(18) ek THIS

Folk society

(19) ‘' Tepdreto @1 Ui TR-wweEl Sifadl ue SHenfadl 9 e § 1

39 39 YT O YgHd § ?

“Sanskritization is confined to non-dominant castes and tribals.” Do you

agree with this statement 7

(20) 3T=R] 342

Article 342.

M2822012 28(2) P.T.O.
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AT heh (0T ¥ 3T 91 THgd & 7 WA T9M U 396 ¥o1E &1 faa=mn #1551 1 60

I

What do vou understand by Secularization ? Discuss its impact on Indian

soclety.
HAd]

(Or)

YRA H SASCE Haq W T 3R e & 996 &1 fFee i

Discuss the impact of urbanization and industrialization on the tribal life of -

India.

3.  FAT[E § Y F FHAd § 7 SHAGCA Jarfel W IR a-Ye & GE] i faera

$IfTq 60

What do you understand by youth dormitory ? Discuss the impact of culture

contact on tribal youth dormuitories.
HAdT

(Or)

faemes 4 o9 T wumd € ? feg faaw &+t enyfas wafed &t faa=am wifsu)

What do you understand by marriage ? Discuss recent trends in Hindu
Marriage.

M2822012 ' 28(2)



4 SHAATE HHS W ORURGA] % FRUT AR Y™l &l fgdem st | 60

Discuss the causes and evil effects of indebtedness in tribal

SOc1etles.
HAAT

(Or)

STASIAIT Hedo &l AU SHIGEqI3 i 99 HiTau |

Discuss the constitutional provisions of tribal welfare.

Ffaiad 3 9 fo=l 9wt gierg feoeli fafew (9 &msnt 200 =1 §) : 4X15=60

@

Write short notes on any four of the following (in about 200 words

each) :

(1)  GShdied
Sanskritization

(2) ST B

Shitting cultivation

M2822012 28(2) P.T.0O.
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(3)  SASEE "ES W feg o9 @1 yw

Impact of Hinduism on tribal societies.

(4)  HRAY SAaE ¥ ySeEE g

Racial elements in Indian Tribes.

(5) ST fame § aeEtaEE @ CIEI

Role of Anthropology in tribal development.

(6)  SSTIE WHY faerE Ol o

Tribal Rural Development Plans.

M2822012 28(2)



